WHITES MATERIAL HANDLING [ THIS DRAWING IS THE COPYRIGHT [ ALL DIMS IN mm (U.0.S) [ DRAWN BY TITLE REVISION No.
10-12 DIXON ROAD OF WHITES MATERIAL HANDLING | TOLERANCES (U.0.S.) 0s BROOM BUCKET COVERED CANOPY - EXPLODED PARTS DIAGRAM CNH
BRISLINGTON TRADING EST | LIMITED AND MUST NOT BE GENERAL +0MM/ -2MM  Foom == DRAWING NO
BRISTOL BS4 5QW COPIED OR REPRODUCED WITHOUT [ BOSS I/D +0.2MM/ +0.4MM ' SHEET N
TEL 0117 9720006 THE WRITTEN CONSENT OF THE | BOSS O/D +/- 0.1MM o.
FAX 0117 9723296 COMPANY. PIN O/D +/- 0.1MM DATE MATERIAL MACHINE 1 of 3
PIN LEN +/- 0.1MM 06/03/19 CASE SR
) 5 | 4 3 1

N




B510796 - BB3C024X1525

B510797 - BB3C024X1680

ITEM |QTY | PART NUMBER DESCRIPTION ITEM| QTY | PART NUMBER DESCRIPTION

1 1 |BB3C1525SH 1525MM BBKT - SHAFT 1 1 |BB3C1680SH |1680MM BBKT - SHAFT

2 1 |BB3C23-1525 CLAM STRIP 1525MM 2 1 |BB3C23-1680 |CLAM STRIP 1680MM

3 1 |BB3C1525C 1525MM BROOM BUCKET CANOPY 3 1 |BB3C1680C 1680MM BROOM BUCKET CANOPY

4 1 |BB3C1525B 1525MM BUCKET 4 1 |BB3C1680B 1680MM BUCKET

5 1 |RB251525 1525MM HINGE SHAFT 5 1 |RB251680 1680MM HINGE SHAFT

6 1 |WHBB0041 BEARING (BB) 40] 6 1 |WHBB0041 BEARING (BB) 40]

7 1 |WHBB0407 MOTOR (BB) 7 1 |WHBB0407 MOTOR (BB)

8 32 |WHBB0342 POLY SEGMENT 7" X 24" (14.5MM) 8 36 |WHBB0342 POLY SEGMENT 7" X 24" (14.5MM)

9 33 |WHBB0351 SPACER 7" (30.2MM) 9 37 |WHBB0351 SPACER 7" (30.2MM)

10 1 |WHCEO0004 GREASE LABEL - 8 HOURS 10 1 |WHCE0004 GREASE LABEL - 8 HOURS

11 1 |WHCE0050 READ OPERATORS MANUAL 11 1 |WHCE0050 READ OPERATORS MANUAL

12 2 |WHCEOQO051 FLYING DEBRIS 12 2 |WHCEO051 FLYING DEBRIS

13 2 |WHCE0052 CRUSHING OF HANDS 13 2 |WHCEO0052 CRUSHING OF HANDS

14 1 |WHCE0053 PRESSURE HAZARD 14 1 |WHCEO0053 PRESSURE HAZARD

15 2 |WHCEO0054 CRUSHING OF FEET 15 2 |WHCEO054 CRUSHING OF FEET

16 1 |WHMA9055 DRIVE DOG 16 1 |WHMA9055 DRIVE DOG

17 7 |WHMA9341 .M8 POP NUT STAINLESS (PTFO-0855) 17 7 |WHMA9341 .M8 POP NUT STAINLESS (PTFO-0855)

18 6 |WHMI4172 INSERT (BB-3) - RTI 196 18 6 |WHMI4172 INSERT (BB-3) - RTI 196

19 1 |WHMI4230 DIA 22MM HOSE CLAMP 19 1 |WHMI4230 DIA 22MM HOSE CLAMP

20 1 |WHMI4366 INDUSTRIAL RUBBER 150x6 (BB3C) 20 1 |WHMI4366 INDUSTRIAL RUBBER 150x6 (BB3C)

21 6 |ZB080025 .M8 ZINC SET SCREW 25MM GR8.8 21 6 [ZB080025 .M8 ZINC SET SCREW 25MM GR8.8

22 1 |ZB080050 .M8 ZINC BOLT 50MM GR8.8 22 1 |ZB080050 .M8 ZINC BOLT 50MM GR8.8

23 4 |ZB080070 M8 ZINC BOLT 70MM 23 4 |ZB080070 M8 ZINC BOLT 70MM

24 4 |ZB140050 M14 ZINC BOLT 50MM 24 4 |ZB140050 M14 ZINC BOLT 50MM

25 2 |ZB300200 M30 ZINC SET SCREW 200MM 25 2 |ZB300200 M30 ZINC SET SCREW 200MM

26 4 |ZC120065 M12 SOCKET CAP SCREW 65MM ZINC 26 4 |ZC120065 M12 SOCKET CAP SCREW 65MM ZINC

27 2 |ZN300000 M30 FULL NUT 27 2 |ZN300000 M30 FULL NUT

28 4 |ZW14000A M14 ZINC WASHER FORM A 28 4 |ZW14000A M14 ZINC WASHER FORM A

29 1 |ZW16000G M16 ZINC WASHER FORM G 29 1 |ZW16000G M16 ZINC WASHER FORM G

30 5 |ZY080000 M8 NYLOC ZINC NUT GR8.8 30 5 |ZY080000 M8 NYLOC ZINC NUT GR8.8

31 4 |ZY120000 M12 NYLOC ZINC NUT GR8.8 31 4 |1ZY120000 M12 NYLOC ZINC NUT GR8.8

32 4 1ZY140000 M14 ZINC NYLOC NUT 32 4 |ZY140000 M14 ZINC NYLOC NUT
WHITES MATERIAL HANDLING [ THIS DRAWING IS THE COPYRIGHT | ALL DIMS IN mm (U.0.S) [ DRAWN BY TITLE REVISION No.
10-12 DIXON ROAD OF WHITES MATERIAL HANDLING | TOLERANCES (U.0.S.) 0S BROOM BUCKET COVERED CANOPY - EXPLODED PARTS DIAGRAM CNH
BRISLINGTON TRADING EST LIMITED AND MUST NOT BE GENERAL +0MM/ -2MM CHECKED DRAWING NO.
BRISTOL BS4 5QW COPIED OR REPRODUCED WITHOUT | BOSS I/D +0.2MM/ +0.4MM STEATS
TEL 0117 9720006 THE WRITTEN CONSENT OF THE | BOSS O/D +/- 0.1MM
FAX 0117 9723296 COMPANY. PIN O/D +/- 0.1MM DATE MATERIAL MACHINE 2 of 3

PIN LEN +/- 0.1IMM 06/03/19 CASE SR
6 | 5 | 4 3 | 2 | 1

N




v

6 ] 5 ] 4 3 2 ] 1
B510798 /B507387 - BB3C024X1850 B507387 - BB3C024X2080
ITEM| QTY | PART NUMBER DESCRIPTION ITEM| QTY | PART NUMBER DESCRIPTION

1 1 |BB3C1850SH |1850MM BBKT - SHAFT 1 1 [BB3C2080SH |2080MM BBKT - SHAFT

2 1 |BB3C23-1850 |CLAM STRIP 1850MM 2 1 [BB3C23-2080 |CLAM STRIP 2080MM

3 1 |BB3C1850C 1850MM BROOM BUCKET CANOPY 3 1 |BB3C2080C 2080MM BROOM BUCKET CANOPY

4 1 |BB3C1850B 1850MM BUCKET 4 1 |BB3C2080B 2080MM BUCKET

5 1 |RB251850 1850MM HINGE SHAFT 5 1 |RB252080 2080MM HINGE SHAFT

6 1 |WHBB0041 BEARING (BB) 401 6 1 |WHBB0041 BEARING (BB) 40

7 1 |WHBB0407 MOTOR (BB) 7 1 |WHBB0407 MOTOR (BB)

8 | 39 |WHBB0342 POLY SEGMENT 7" X 24" (14.5MM) 8 | 42 |WHBB0342 POLY SEGMENT 7" X 24" (14.5MM)

9 | 40 |WHBB0351 SPACER 7" (30.2MM) 9 | 43 |WHBB0351 SPACER 7" (30.2MM)

10 1 |WHCE0004 GREASE LABEL - 8 HOURS 10 1 |WHCEO0004 GREASE LABEL - 8 HOURS

11 1 |WHCEO0050 READ OPERATORS MANUAL 11 1 |WHCEO0050 READ OPERATORS MANUAL

12 2 |WHCEOO51 FLYING DEBRIS 12 2 |WHCEO0051 FLYING DEBRIS

13 2 |WHCEQ052 CRUSHING OF HANDS 13 2 |WHCEO0052 CRUSHING OF HANDS

14 1 |WHCEO0053 PRESSURE HAZARD 14 1 |WHCEO0053 PRESSURE HAZARD

15 2 |WHCEO0054 CRUSHING OF FEET 15 2 |WHCE0054 CRUSHING OF FEET

16 1 |WHMA9055 DRIVE DOG 16 1 |WHMA9055 DRIVE DOG

17 | 7 |WHMA9341 .M8 POP NUT STAINLESS (PTFO-0855) 17 | 7 |WHMA9341 .M8 POP NUT STAINLESS (PTFO-0855)

18 6 [WHMI4172 INSERT (BB-3) - RTI 196 18 6 |WHMI4172 INSERT (BB-3) - RTI 196

19 1 |WHMI4230 DIA 22MM HOSE CLAMP 19 1 |WHMI4230 DIA 22MM HOSE CLAMP

20 1 |WHMI4366 INDUSTRIAL RUBBER 150x6 (BB3C) 20 1 |WHMI4366 INDUSTRIAL RUBBER 150x6 (BB3C)

21 6 |ZB080025 .M8 ZINC SET SCREW 25MM GR8.8 21 6 |ZB080025 .M8 ZINC SET SCREW 25MM GR8.8

22 1 |ZB080050 .M8 ZINC BOLT 50MM GR8.8 22 1 |ZB080050 .M8 ZINC BOLT 50MM GR8.8

23 4 |ZB080070 M8 ZINC BOLT 70MM 23 4 |ZB080070 M8 ZINC BOLT 70MM

24 | 4 |ZB140050 M14 ZINC BOLT 50MM 24 | 4 |ZB140050 M14 ZINC BOLT 50MM

25 2 |ZB300200 M30 ZINC SET SCREW 200MM 25 2 |ZB300200 M30 ZINC SET SCREW 200MM

26 | 4 |ZC120065 M12 SOCKET CAP SCREW 65MM ZINC 26 | 4 |ZC120065 M12 SOCKET CAP SCREW 65MM ZINC

27 2 |ZN300000 M30 FULL NUT 27 2 |ZN300000 M30 FULL NUT

28 | 4 |ZW14000A M14 ZINC WASHER FORM A 28 | 4 |ZW14000A M14 ZINC WASHER FORM A

29 1 |ZW16000G M16 ZINC WASHER FORM G 29 1 |ZW16000G M16 ZINC WASHER FORM G

30 5 |ZY080000 M8 NYLOC ZINC NUT GR8.8 30 | 5 |ZY080000 M8 NYLOC ZINC NUT GR8.8

31 | 4 |ZY120000 M12 NYLOC ZINC NUT GR8.8 31 4 |ZY120000 M12 NYLOC ZINC NUT GR8.8

32 4 |ZY140000 M14 ZINC NYLOC NUT 32 4 |ZY140000 M14 ZINC NYLOC NUT
WHITES MATERIAL HANDLING | THIS DRAWING IS THE COPYRIGHT | ALL DIMS IN mm (U.0.S) [ DRAWN BY TITLE REVISION No.
10-12 DIXON ROAD OF WHITES MATERIAL HANDLING TOLERANCES (U.O.S.) oS BROOM BUCKET COVERED CANOPY - EXPLODED PARTS DIAGRAM CNH
BRISLINGTON TRADING EST LIMITED AND MUST NOT BE GENERAL +0MM/ -2MM CHECKED DRAWING NO.
BRISTOL BS4 5QW COPIED OR REPRODUCED WITHOUT | BOSS I/D +0.2MM/ +0.4MM SHEET No.
TEL 0117 9720006 THE WRITTEN CONSENT OF THE BOSS O/D +/- 0.1MM
FAX 0117 9723296 COMPANY. PIN O/D +/- 0.1MM DATE MATERIAL MACHINE 3 0f3

PIN LEN +/- 0.1MM 06/03/19 CASE SR
6 | 5 | 4 3 2 | 1

N




